3 11"7 '01n 2,7 M2InD .72

When was that taught; by Birkas Hamozon — 317177 N5923 K377 810 9D

OVERVIEW

The R 3 resolved the contradiction between 1am° ' (who maintains 1 292K 7R
1) and the Xn»9 2 (which states Paan 1 2°9aK)) that the Xn»92 is discussing
1"mi172, and v is discussing the 77 w. Our NBOIN cites "W as to what is meant by
1""m1773, rejects it and offers his explanation.
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“"'wa explained that paan 1 09K regarding 1"»702, means that an 92X can
combine with two other people for 31, since the 22X is obligated to perform all
the nixn.

mooIn disagrees:
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And the >"'1 disagrees, for if it is indeed so, it turns out that the Xn>92 is only

teaching us that the 52X is nx»2 2%n -
— YN 2°NT RITN M5 NP9 1Y

So the Xn»12 should have stated explicitly that an 52X is nx»2 25917; why (merely)
refer (anonymously) only to 1"%7772 specifically —

mooIn has an additional question on *"wA5:
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And furthermore; if it is so (that 1772 refers to 1»°7) what does the X723 ask on
1M " from another statement of "7 which reads; ‘the blessing of mourners

requires ten people but the mourners cannot be counted as part of the ten,” -
—>NIN M NIVA 1993 NPT

So the X713 asks, ‘is there a ;71992 by the 72’ -
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Rather perforce we must say that > was discussing 1''%793 -
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So our initial difficulty returns to its place, for the Xn>=2 stated anm7 32 2°92aN),
and we established the Xn>s92 by 1''%793, and as we just concluded >" must also be

! One leads the 1"»72 for all three and begins with the 2wn 1738w 7723, etc.
% The X3 asked on the previous answer that when 13 '3 said ¥ 11 22228 1°X he was referring to 7Ww.
? In this second statement of *", he clearly said 2 292X n272, but by the 77w consolation no 7272 was said. >3
cannot mean 71 when he ruled that 31°37 72 2°2R PR 2 2°1010 n212, he must mean 172772,
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discussing 1"»773, and " rules PIn M 222X PRI, not like the Xn>>12. This concludes the citation

and explanation of the &773. M0N0 continues with his question on > -
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However according to 3''w22 there is no difficulty at all -
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For when the Xn>12 taught 3277 32 2°228) that means (as °"v1 explains) to have

the 72X join for a 79 to be able to say Y@ 19oRW 7721 -
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However, >''1 said that regarding the 2°9a8 n>92 which is said during 1''%792, the

92X is not part of the 3°1% and we need ten others present to say 2°2ax n>7a. There is
therefore no contradiction between °" and the Xn>12! What is the s'X713 question?!

mooIn offers his explanation of 7"777722 X7 X°1N °2:
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Therefore (because of the aforementioned difficulties with *"wAD) it is necessary
to explain that when the X712 answers, 't''%77923 X977 X%1n 92', it means the n>92
2v%ar, which is said during 1''%m772.

mooin derives a ruling from our XA
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It seems from here that we recite the 2%9a8 n>92 during 1''%772 only if there are
ten people -
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Since the questioner entertained the idea that the statement of "3 ( 2°2a8 n>72
TIAT A 292X PRI 7IwY2) is regarding 2°9aR nona which is recited during 1''»mm3,
and °"1 ruled that ten are required -
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* p¥9ax no72 is obviously not (the 71 of) "nin3, for wt certainly does not require ten; three are sufficient. It is
(either) the 73272 which the X723 mentions later on this 71y, which concludes 2°2aR onan 02 (see also 7"7 >"wM
112r12) and/or the various other N1272 mentioned there (or as the X"2v™ states NART 17 P7Y2 VOW).
> Moo writes wIoh T°% 799, for the term I"n5922 X777 ¥030 3, lends itself more to *"wAo (that it refers to the 1m7 of
1"712) than to 'own o (that it refers to 2°2a& n372 which is said during 1"»773). However since *"w19 is untenable
(due to m»dOIN questions), we are forced to accept '01N7 "d.
% The X7 initially established that the Xn>2 which states P77 12 %ax1 is discussing 1"2772 (which Mmoo proved
to mean 1"»7722 0°%2K N372). The jwpn asked but this Xn»12 still contradicts the other statement of *"3 that n372
17177 1 ©°92R PRI "2 222K (which the 1wpn understood to also mean 1"177722 0°9a8 n2732). The only question the Jwpn
had was that this statement of "3 that P77 11 222X PR contradicts the ruling of the Xn*92 (since we assume that they
are both discussing 17722 2°7a8 n>72). However the 7wpn had no difficulty with the statement of > per se (if there
would be no contradictory ruling from a Xn>>2). The jwpn felt comfortable that "»7722w 0°22K8 N372 requires ten.
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And the jwpn was satisfied with this understanding of "9, if not for the Xn%=2
which stated previously {127 32 29281 (which we [also] established to be
discussing 1117122 2°22R n>72); therefore ten are required for 127722 ov9ax no7a.

SUMMARY
The X&n>>72 which stated 1an7 1 2°922X) is referring to the 1"»7722w %28 no12
(which requires ten people present in order to be recited).

THINKING IT OVER

Why did not mpoin ask (the same question he asks on °"w7) on the XM
previously? When the X713 brought the initial contradiction between the Xn»92
(which states 1°37 12 0°%2K1) and *"1 (who states 1°3%7 12 2°%2K 1°X1); why did not the
X3 answer (according to °"w9) that the Xn>972 is discussing 7172°7 and °"7 is
discussing a*ax n372?!’

7 See R"wAA.
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